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What is a TTI?
[bookmark: _GoBack]The term TTI (Transmission Time Interval) has been part of 3GPP since the beginning. 
· The TTI is a property of a transport channel, not a physical channel. 
· In essence, a TTI is the time between two time instances when a transport block (or a set of transport blocks) can be transmitted on the transport channel from the MAC layer in one node to the peer MAC entity in the receiving node.
· A TTI is not  identical to a subframe. Some examples:
· In LTE, the BCH transport channel, mapped to the PBCH physical channel, has a TTI of 40 ms. The physical layer uses 4 OFDM symbols in one subframe to transmit the coded transport block.
· In HSPA, the HS-DSCH has a 2 ms TTI. Coded transport blocks on the HS-PDSCH are transmitted using 3 slots of 0.67 ms each.
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Figure 1: Illustration of 40 ms TTI for the BCH in LTE.
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